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MATHEMATICS
Paper XVII
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N.B. .— (1) All questions are compulsory.

(17) Figures to the right indicate full marks.
1. Attempt any five of the following : 2 each
§)) Show that :
I afi(t) + bfy(8] = all £(0]+ B £;()]
(11) Draw the graph of :
u(t —a) — u(t = D)

S
(zz1)  Find the inverse Laplace transform of 32 _ 16"
(iv)  State the second shifting property for inverse Laplace transform.
(v Write the formulae for Fourier sine transform and inverse Fourier sine
transform.

(v1)  State the shifting property for Fourier transforms.
2. Attempt any two of the following : 5 each
(1) If
LIA?] = F(9),
then prove that :

LI# 1] = (DA ﬁ[F(s)]
ds”
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(p If
LIAL?)] = F(s),
then prove that :
LIt — a) u(t — a)] = e¢2° F(s).

(1) Evaluate :

L[e—‘“ sin3t}
|

3. Attempt any two of the following : 5 each
(1) Find the inverse Laplace transform of :
3S+1

(S-1)(S2+1)

(1) Find the inverse Laplace transform of :

S

S2 +4S+13

(i1  Using the Laplace transform, find the solution of the initial value
problem :
V' + 25y = 10 cost 5¢,
HN0) = 2, ¥(0) = 0.
4, Attempt any two of the following : 5 each

(1) State and prove the change of scale property for Fourier transforms.

(11) Prove that the Fourier cosine integral is given by :

9 e o
)= EJ‘O cos ux du .[0 (1. cos ut. dt.
(€71)) Find the Fourier transform of :

1-x2, if Ixl<1

fx) = .
0, if  1xl >1
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